1. For f(x) = 4x - 7, what is the average rate

of change for-3<x <2
el3)= 4D-T1=-1a (3,719
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2. Compare the slope of f(x)=-1/4(8x - 10) to the table belot
what kind of slope do each have? 10
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3. Write the equation of the line that passes throug@
and (13, 18)
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Slope
Application

Problems




/ﬁding Slope Application: \
. WmovielficketiEoul 526 2B anc(EXGR FETE) what
would one movie ticket cost!

(%, 2625 43.75-2625_ _|1.50
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2. If | paid i brand

andpia it is \,lvort\\/x}cr?;t izat?,e 32\:rl ke
depreciation?




Application with writing linear equations

O =MX+b

3. In 1990; the average cost of a new house was
$123,000. By the year the average cost of new
house was $134, 150. Write a linear equation to

%ﬂlon |3"} 150 _ IZBHJO_
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U= WIS K +123 000\

4. In %the average price of movie ticket was(§5-06>)

In the average cost a movie ticket i Write

an to represent this SItuatlon -
0,5 fa=l0- 5 =

A=K S 3: O-33%+5




ﬂplication with solving linear equations \
6. A compaml-ha.i-mMYﬁipenses represented by the

function,c(x) = 2x + 1,200( where af epresents the number
l'_.

f items|produced. If the company spent?. past month,

how many items were produc
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6. The-average pﬁce of ﬁhovie ticket in the yeari&o wa
@ he average price of a movie ticket in the yearﬁ@&
wa Assuming the increase is linear, what would be
the approxi ice of a movie ticket in the year '26@9.7
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Identifying the meaning of slope and y-intercept

/. The equation y = 461.19x+ 3, 492 represents the value
of a work of art from 1964 to 2005. What does the
number 461.19 represent?

A. value of the work of art in 19643—'\(\-\-ej‘ccp-t~

B. value of the work of art in 2005

C. yearly decrease in value

yearly increase in value S\@QJ




Identifying the meaning of slope and y-intercept

i ; The line of best fit for the
data isfy = 4.4x + 18.9 whereﬂis the number of weeﬁ\of experience
of a student and/ylis the_stude_n'tTS typing speed.\\X/hat is the meaning
of the y-intercept for this set of data’ e g

A. the average typing speed of the studentsSL%

E 1

C. the improvement in typing speed per week for the average
student

/
he typing speed of a student with no experiencej___l'n(f/k



Identifying the linear equation:

9. A computer is purchased foy
per year. Which linear equa

computer aftea
V = 1,200 - 1401
“Br=—b——140+

Ot b= 1260
O V =130(260—0.

10. Martha has @ She needs a total of $2,000 to start an
ageQunt. She earnworking, of which she saves
m \Xhich_equation can she use to determine the number

of days, a, she needs towork to reach her goal of $2,000?

’ Q==

és 2,000 = 504 + 180 b= ¥ 1%

D. 2,000 = 50d-180




